General Studies for Primary Schools
 Transport and carbon emissions (1) - Worksheet Which of the following is the most environmentally friendly transport?
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	The amount of carbon dioxide produced (also called “carbon emissions”) when the following public transport travels for 1 kilometre is shown as follows:
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Calculation
Calculate the “carbon emission per person” for the following public transport:
	Type 
	Carbon emission per person*
	Step

	A. Private car
	300 ÷ 4 = ________ g
	4

        300
  6 8 0  




	B. Minibus
	  ________ ÷ _____ = ________ g
	




	C. MTR
	
	





*Remark: carbon emission per person = carbon emission ÷ passenger capacity 
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Answer the questions according to the information on page 1: 
1.	Arrange the “carbon emission” of the following transport from highest to lowest. 
(present your answer in alphabet) 
	[image: ]A. Private car


	[image: ]B. Minibus
	[image: ]C. MTR


　　
　　＿＿＿＿＿＿＿＿＿＞＿＿＿＿＿＿＿＿＿＿＿＿＞＿＿＿＿＿＿＿＿＿＿

2.	Arrange the “carbon emission per person” of the following transport from highest to lowest. (present your answer in alphabet) 
	[image: ]A. Private car


	[image: ]B. Minibus
	[image: ]C. MTR


　　
　　＿＿＿＿＿＿＿＿＿＞＿＿＿＿＿＿＿＿＿＿＿＿＞＿＿＿＿＿＿＿＿＿＿


3.	Although the “carbon emission” of ______________ is the highest,
its “carbon emission per person” is the (  highest  /  lowest  ) because it is a
mass transport system.

[image: C:\Users\chuyuensan\Desktop\pen.png]      

Conclusion

Among the three modes of transport, ______________is the most environmentally friendly.



Suggested answers

Calculation: 
A.	300 ÷ 4 = 75 g
B.	1040 ÷ 16 = 65 g
C.	2400 ÷ 300 = 8g

[bookmark: _GoBack]Remark: The data of “carbon emission” have been adjusted to suit primary students’ level.
Reference: 
https://www.gov.uk/government/publications/greenhouse-gas-reporting-conversion-factors-2016
http://www6.cityu.edu.hk/aerc/CFT/booklet/Guidelines%20E.pdf


Questions:
1.	C > B > A
2.  A > B > C
3.  MTR, lowest

Conclusion:
MTR 
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